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OCelXITH 250,000& = 43| = 95% 950
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OPHALE oft|
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O®EIIJI= &3l 200,000& = 13l 200
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OM I 7ASE(75L)
1,330 = 15004 = 12 2,394
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-SEi ¥ 460,000& = 4CH 1,840
-SEX ¥ 600,000& * 2CH 1,200
-SEx =9 470,000& = 204 940
-SEX UHE 850,000& * 1CH 850




X{ XH -
S =

SH HRT HEXAD
ol
g

BE .G (3) - MY - BES il &t o il
-StEX 28 660,000 * 8CH 5,280
-stE2x =8 720,000& = 1CH 720
-St2X e 820,000& « 1CH 820
“EAaXSE (S AF)  750,0008 * 204 1,500
~HAaXSE (st 58) 800,000& * 8CH 6,400
“EHAXS (S HE) 850,0008 * 170K 14,450
OXts A 2,445
-5&x 38 75,000& = 304 225
-2 =8 250,000& =« 3CH 750
-SEX e 400,000& * 2CH 800
-SEX =8 100,000& * 1CH 100
-SEX e 120,000& * 1CH 120
-StEx &8 55,0002 * 504 275
-st=2x =¥ 55,000& * 1CH 55
-St=x d 120,000& 104 120
OZMNERE S 2,290
-SEX 8 90,000& = 104 » 23l 180
-SE&X e 90,000& = 208 = 23l 360
-SEi =¥ 150,000& = 1CH = 23] 300
-SEX g 205,000& = 104 = 23l 410
-SEX A8 50,000& = 501 = 23| 500
-st=i ¥ 90,000& = 104 = 23l 180
-St2X e 180,000& = 10 » 23| 360
OHEB N2 (S8, S8 3 8)
27,000& = 17CH = 23] 918
OSZTHLIAN(EE, 58 .32)
51,000& * 17CH 867
O Xt = Xl 78,900
O I Xt 1,500,000& * 1CH 1,500
OsEXt 4,900,000& = 7CH 34,300
Osgxt 6,500,000& * 2CH 13,000
Ost=xt 4,300,000& = 7CH 30,100
O3 HAHIRY MEEE EE=
80,000& * 69 5,520
202 44l 3,563 3,563
01 = LH o4 1l 3,563 3,563
OAE AMH=E NEXE Wl 3,563
Oz2 30,000& = 5H * 153 * 95% 2,138
OZHLH 10,0003 = 59 « 303 = 95% 1,425
23 JUEL U 28 N 663,102 615,495
FXo HHHES 29 284,372 242,865
201 Let24d] 184,132 167,115




SHTMRT HEXE D
Bu: Fo0E 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 35,388 29,656 5,732
8 AZEAN ¢ 35,388
Ostd I A 255,000& = 502 = 95% 12,113
OMS2 Il & 490,000& = 502 = 95% 23,275
02 2324l 148,744 137,459 11,285
ONAEH L ALAE SXNES 126,144
OF& 8 .-5 J2E FFH(5280)
3,960,000& * 122 47,520
O3 ,H -5 d0oM Z2Ie(211H)
481,000& = 123 5,772
OH -3 AUALZII(19H)
3,962,000& * 1228 47,544
OH - SEUA”LSII(18LH)
857,000& 123 10,284
OH -5 HEHIIS &AL Zdl(40H)
208,000& = 123 2,496
ONERE B -3 EHOIX 2= 2l=g
913,000& = 123 10,956
OE MU AIAEH 131,000& * 12& 1,572
OBHAIS/W AtE R AIHI (201 A) 22,600
OPCE g4l T2 28,000& * 5002 14,000
OAMBIE el 228 440,000& = 5= 2,200
OUPCRIZI0l MIOIME Z20HY
30,000& = 1002 3,000
OPCE HoB3EESdSsE2 I
34,000& * 1002 3,400
405 XtAtE SHI 100,240 75,750 24,490
01 AL EFH S 100,240 75,750 24,490
O+& & H.-5 HIAMNPEH LA -E= 100,240
Oz &=H 1,400,000 * 30CH 42,000
OZBHMEESH) 600,000& = 20CH 12,000
OS2 ZI| 24,000,000& * 1CH 24,000
Osgagsr] 7,960,000& = 1CH 7,960
OFpS=ARE F#I|J|
510,000& = 280H 14,280
23U JIBANE 29 378,730 372,630 6,100
201 Let24dH] 307,730 302,870 4,860
01 At 2teltl 950 950 0
OANESEBA =ZFH n=+=2
200,000 = 5CH * 95% 950
02 =24l 306,780 301,920 4,860
OSANEZH AIEZ 125,760
O=)EEs4 Y AIER 99,600
-Heod -3 700,000& = 113l& = 128 92,400




SHTMRT HEXE D
Bu: Fo0E 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEFs HZald
300,000& = 23| & * 12& 7,200
OFEd MER 20,160
-SR0S (512K)
150,000& » 63/ & » 12& 10,800
-wod -3, J|E
30,0003 = 263 » 12& 9,360
ONeT oslgsea
500,000& = 13l& = 128 6,000
COYEHANMS MEZ 3,000,000& * 12& 36,000
ogeANs AAEE 7,000& * 834 * 128 672
OQHYUIH 3& AIEZ
40,000 = 163l & = 128 7,680
OALYS +MUR(HEHA)
20,000& = 1314 = 128 240
OFESHEH RA22 136,428
OANEFEESHEHI 5,700,000& = 12& 68,400
OdZdatwed| 1,840,000& * 12&8 22,080
ORFEEAZX 360,000& = 12& 4,320
ogzgsdl 137,000 * 123 1,644
OAMNEEAA ST EHI 360,000& = 12& 4,320
OFUHgSEH 808,000& * 123 9,696
OCCTVZE HI 1,620,000& * 12&8 19,440
OFMAUHLSAIAEH 251,000& = 12& 3,012
O=3 2 SsoAs Alrg
269,000& » 12& 3,228
OZ2AE S| 24,000 = 123 288
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OFESHANE 22 XM 5,000
OuTP ol & 118 2,500,000 = 23l 5,000
401 AIEHI L 20 10,000 37,000 A 27,000
01 A& HI 10,000 37,000 A 27,000
o7& £ ¥ .3 FUHSMEZ FHI 10,000
OAMSATHX FUHSAMLEZ FHI
5,000,000& = 23| 10,000
405 XHobF S HI 56,000 27,760 28,240
01 HatL ESFH S 56,000 27,760 28,240
OoO=%.% .35 SHUHEH =LA 50,000
OH2ALAX(IPTE) 25,000,000& =« 2CH 50,000
OkL®: WAJDJ WAl 600,000& * 5CH 3,000
OHZHRE IPTHE DI 600,000& = 5CH 3,000
HAEE Zais 29 26,461 31,714 25,253




SN HRT
Hu: AXS 2T 29
e HEsE SHE 8d9 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A8E 2IHE 29 26,461 31,714 N5,253
A8e RES2AHY 4 10,331 9,794 537
201 et d| 10,331 9,794 537
01 AP 2t 2| bl 10,331 9,794 537
Ok, HY HEY CHUYEL & S22 HZ
66,0008 * 5008 * 95% 2,850
OLHHASHAX WEUA 2HLH
120,0008 ~ 1™ * 95% 114
O3EANEZS(SSAL) &HAH =42
381,000& * 2 = 13| = 95% 724
OSYHNAUI £ NHUUXIZ(GEEH)
660,000& * 63 * 95% 3,762
OMESAE AMEH =2 2,881
OA=E20t 381,000€ ~ 2 = 23] * 95% 1,448
OAgZ0F 377,000& = 2 * 23] * 95% 1,433
SHHMSAIE 22 16,130 21,920 AN5,790
305 HHA2S 500 500 0
01 & Z2S 500 500 0
o) IXEHAZ2H KIIEES
100,000& = 53| 500
401 Al HI L 204 HI 15,630 21,420 AN5,790
01 Al&H| 15,630 21,420 AN5,790
oor=sII7 FKAEx 30,0008 = 221& 6,630
okL=: otd2s)I+ WA 3,000,000& = 3& 9,000
olgrel 29 442 590 416,593 25,997
Dlgter 25 U A SR 22 442 590 416,593 25,997
olgte] n=szgd =4 219,123 218,428 695
101 Q24| 1,435 1,375 60
04 JI2ZtHIZ22NEE S 1,435 1,375 60
OolY? JiIZ2J AL Y 0gAudE HA
69,760 x 4H x 53] 1,396
O 48 242 39
O nsydE 1,396,000& * 1.65% 24
O sHeEE 1,396,000& * 1.03% 15
201 et 10,113 10,113 0
01 AP 2t 2] H| 10,113 10,113 0]
ORIYS B BR 4o
70,000 * 63 * 95% 399
oolet? 24 2 HIAE EXE WA
100,000& * 1000 * 95% 950
OoIYRAE M EH|
6,000& * 1004 * 23| * 95% 1,140




SA MR HEXAD
B oigel 29
el pleSloiE A4S U AE=RQABE CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oolge 2d 2AE K2 M 2,185
Os2RHEM R0 72,0003 * 252 x 95% 1,710
Oplgs WE B HEAH R0
10,0003 = 308 = 95% 285
Oolge ssed A5 A
502 « 4,0000H * 95% 190
OO0tz Mg e s 2AsE
120,000& = 208 *» 95% 2,280
oplgrels R 2,771
Oogrgrel a9
25,0003 * 5% « 11HZ * 95% 1,307
ogrgrel X7
23,0003 * 5% * 11HZ * 95% 1,202
oo g 2%
5,000& * 58 * 11HZ * 95% 262
ooEe nsd d=J| Xz
34,0003 = 128 » 95% 388
206 M= Hl 4,320 5,910 A 1,590
01 = Hl 4,320 5,910 21,590
OV (2 THELE) 7,000& + 100K 700
OFCHIIAA H&a&s838  165,0008 1694 2,640
oHl& S=AlE =Z2AA M=+4Y
1,100& * 10074 110
OolY Y Fy| 870
OM =2l 420,000& * 14 420
ODs2 H=2XH 150,000 * 3M 450
301 LEEXF 167,255 155,030 12,225
04 HtESLHUHAHXA 137,180 125,180 12,000
OXsLHM OFalH| 69,980
oo 5,000& * 49¥ x 123 » 12 2,880
OX<S 5,000& = 4% « 1104 = 305¢ 67,100
OXNsgdHI ®JHl 200,000& » 11CH » 12& 26,400
oOXsddHl =429l
200,000 = 1204 ~ 12& 28,800
OXNsddl YH==2xd B2
1,000,000& * 12CH 12,000
09 HALAHIX RS 30,075 29,850 225
OXNdUUE dXus NS
75,000& = 4014H 30,075
5 a2 S 500 500 0
01 tH& 3 S 500 500 0
O=d = Nd2 2a3 500,000& = 13l 500
307 21201 A 500 500 0
01 2L =4l 500 500 0




SH:HER B
B oigel 29
SRl DIESISY AS U AG=RQABL CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=sd = 24X =l 500,000& * 1¥ 500
405 TtHabF S| 35,000 45,000 A 10,000
01 AL EFSHSHI 35,000 45,000 210,000
og=d 35,000& * 1,000H 35,000
AE ASZRRE e 223,059 197,757 25,302
201 Let249] 1,373 1,361 12
01 At 2teltl 373 361 12
OMI=223 A2dWs 2ArE
120,000& * 23] 240
OMI=ERRY 22dWs =2 M
0,000& = 23| = 95% 133
02 =24l 1,000 1,000 0
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OBHMl Ot S 65,0008 * 358 « 122 27,300
OLt5Hl Ot s 65,0002 * 358 * 12% 27,300
Xzolo X5 1,349 2,090 ATAY
MASE Moy £ 1,349 2,090 ATAL
A2 1,349 2,090 ATAL
201 Lty 1,349 2,090 ATAY
01 AL 22/ H] 1,349 2,090 ATAY
CES R N 1,349
O AHIH 100,0009! * 107 * 95% 950
O# 49 70,0002 * 6JH * 95% 399
HHSAJH (NP ==X D) 96,782 104,206 AT, 424
Jl=2 A 96,782 104,206 AT, 424
Jl=Al 96,782 104,206 AT, 424
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MATF =257
Ay

o &

<

- ==X

23l (A

Jl=23tl

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
201 Bt A | 64,766 64,432 334
01 At 22l bl 32,751 34,463 AN1,712
OJl2gsa A 500,000& =* 12,150
OJIEZHl(2&Hl)
8,000 = 27 » 8¢ 18,663
O&dxJ| &dXx& 80,000& = 912
O2J|HAD| AX2
45,000& = 2CH 1,026
02 35244l 32,015 29,969 2,046
oRE2 28,686
Ogt 350 * 2,700 11,340
O&I 2,450% * 590 17,346
OZ22sUE MES(AEX)
50,000& * 404 2,400
O& XS A =Xl 3,987,000& * 2CH 479
odHer)| |Aldl 2,500,000& = 304 450
202 04| 27,216 34,474 ANT,258
01 24 0Il 27,216 34,474 AT7,258
©J| =&l
20,000& * 279 x 62 * 12& * 70% 27,216
203 &R =&H| 4,800 4,800 0
04 EXNSHLRF=AH| 4,800 4,800 0
©J| =M (30210]3t) 400,000€ * 12€ 4,800
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SN HRT GYDED
HE: HYSYAH (MR NYDSD)

el

CEHE .S (3H) - MBAY - B2 il HDS2
OJI=&dl(S&Hl)

8,000& * 128 » 82 x 128 * 90% 8,295
O&d%I| dx= 35,0008 * 123 = 200 * 95% 798

02 332494l 3,955 3,685 270
oRWR2 3,955
Ot 350& * 5,000 1,750
OsII 2,4503 * 900 2,205

202 O B 17,280 21,888 AN 4,608

01 2L Y] 17,280 21,888 N 4,608
OJ|IEZ&HI 20,000 » 124 6 * 128 17,280

203 ¥R =&H| 4,200 4,200 0

04 ENSIHRF=XY| 4,200 4,200 0
OJ|=H (25021 0/8t) 350,000& = 12& 4,200

405 XtabF S| 4,000 7,800 A 3,800

01 AL 2B F SHI 4,000 7,800 A 3,800
HHBED](99m = 1) 3,000,000& * 1CH 3,000
OZ2 A M DI 1,000,000& = 1CH 1,000




A

o
20219 = =Z0la LB MEF SEXNF ~ N7 A=)
FN: NEF N2
M XA 2el
& s NYA 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
M2 NS 472,348 482,599 A 10,251
XAl 2tel 397,286 399,719 A2,433
st NEA 21 258,806 261,730 A2,924
LA 20 2 58 258,806 261,730 AN2,924
2 B2 F | 258,806 253,000 5,806
01 At 22l 59,990 62,223 A2,233
OX&A 2 =& 35,341
OFIIZIANMN M & =< 19,452
~SEUSADNAN M U 52
72,6003 * 13& Xt * 95% 897
~XASIAIRAN HE L &4
72,6003 * 864Kt * 95% 5,932
AR DXIA HE R &=
72,6003 * 117& X * 95% 8,070
-FUAIDXAN HE R EH
72,6003 * 664K * 95% 4,553
O=A&231XAM 72,6003 * 204 X+ * 95% 1,380
ONSXHHMALGIXNAM M L =
72,6003 * 27&L X * 95% 1,863
OXtgzZ XA 72,6003 * 204Xt * 95% 1,380
OM2=SZ XM 72,6008 = 25& Xt * 95% 1,725
Oet & 6,691
-XNgNEatUHE
72,6003 * 414K * 95% 2,828
OS2 72,6003 * 414X * 95% 2,828
“KNEASAH CHUHZ2
72,6003 * 15& X * 95% 1,035
OESE MH 100& = 20,0000H * 95% 1,900
OU=%F M= 200& = 5,00008 » 95% 950
OXNTANEL A A22F 7Y 6,622
O=AEX 21,0003 = 704X+ * 95% 1,397
O&H 220,000& * 2500 = 95% 5,225
OXYH B 14,146
ONYNE &2 2122 HE
2303 * 5& = 5,00001 = 95% 5,463
OFJIZ2 NN g2 U2
100& = 20,000& = 95% 1,900
O8 =5 70,000 = 143 * 30 A * 95% 2,793
Ogzre 30,000& = 142l * 9 A + 95% 3,591
(OF:[ 1= 30,000 = 143 = 1A * 95% 399
Onx=Zeyll 283 3,881
O&H 240,000& = 6I1 = 95% 1,368
oced 940,000& * 1JH = 95% 893




N = 0l & At & Ml A

20213 =20lah LA AT I ~ N AdFY

fAMN: AETF MR

I XA 2el

SHol: FHEE NN 2D (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O8 A D] 280,000& * 1JH * 95% 266
OFI(EMRH) 440,000& = 1J0 * 95% 418
OHYEH 250,000 * 20 * 95% 475
OHEAEE 420,000 * 1JH * 95% 399
OHEUS 65,000& * 100 * 95% 62
02 33294l 198,816 190,777 8,039
ORI (HII2, =A2, A2, ) 194,950
Ot 350& * 389,000 136, 150
OsII 2,450 * 24,000 58,800
OXNEAH 28 A0EE AISZ
33,000& = 104 ~ 12& 396
OHFALREH R I 3,470
ONSHITElED| 20,000,000& = 8% 1,600
O&E XK= AL 3,200,000 * 2CH * 8% 512
O2MAI D] 2,300,000 = 200 * 8% 368
OM=2&3I 3,630,000& * 8% 291
Os&| 8,730,000& * 8% 699
SSHO HygH A 138,480 137,989 491
XA Mg =g 138,480 137,989 491
201 Bt A | 113,480 112,989 491
01 AFR2 2t 2l dl 28,395 29,104 A 709
OXYM & g2 F=A 24,338
oMY DM ME S &4
72,6008 * 404X * 95% 2,759
OS=3 Hx ¥ 2
72,600 * B1&AXF * 95% 4,208
OHEHE ME 2 &2
72,600 * 1214 X+ * 95% 8,346
OZUHE 248
600,000& * 508 * 25% * 95% 7,125
O=2sMa & MA JMEHE =82
2,000& * 1,000 * 95% 1,900
OMEgd s g2F8 2285 ¢ 3,088
T2l EY 220,000& * 1000 * 95% 2,090
O=2AMEX 21,000& » 504 X+ * 95% 998
OMgHEEH D2t 2L 969
Og+9 70,000& * 23] = 3IHA * 95% 399
O 2te 30,000& * 23] * QIHA = 95% 513
Obl 4 30,000& * 23| = 1A = 95% 57
02 352494l 85,085 83,885 1,200
ORFREB(MYEIDIAN . SESH WIS ,24UH2) 80,045
Ot 350& * 200,700 70,245
OSII 2,450 * 4,000 9,800




2N
XA 2te

SEH2 Mg

X ZH
S =

el

NET M2

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
OZXNE ALEE AEEZ
45,0003 * 200 » 12& 1,080
oHsH 8 A2 =4
330,000& = 12& 3,960
303 L& 3 25,000 25,000 0
01 &3 25,000 25,000 0
O&F+=ZAZ 25,000
o20188 = Ol ™ 170,000,000 = 5/100 8,500
Q20198 & 200,000,000& = 3/100 6,000
02020E & 1,050,000,000& * 1/100 10,500
HE2AIH(ME AR 75,062 82,880 A7,818
=2 Hl 75,062 82,880 A7,818
JlE2&l 75,062 82,880 A7,818
201 gpt2d 30,502 32,024 N 1,522
01 At 2t 30,502 32,024 A1,522
OJl2gEa8A 500,000& = 249 10,800
OJIE&Hl(SHl)
8,000& » 249 + 8 « 123 16,589
OQI3A Ho o SHAMAM 3,113
oplgolg &X
11,000& = 5& * 12& 627
Ogles H4| AXE
47,0003 = 204 = 123 1,072
Oglas ZI8E7 gxz
42,0003 = 204 = 123 958
Oglda 32 60,0008 « 45 * 23] 456
202 44l 39,360 46,656 AT,296
01 = LH 4 1l 27,360 34,656 AT,296
©J1=3Hl 20,000& = 199 = 6 27,360
02 M0 12,000 12,000 0
OMEAM=zd+ 20
200,000& = 59 12,000
203 R =& 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0
OJ|&EH (2521 0135t) 350,000& 4,200
405 XHoHS S 1,000 0 1,000
01 AL EFSFHSHI 1,000 0 1,000
OW& 11 (500L0!4tH) 1,000,000& = 1CH 1,000




N = 0l & At & Ml A

PO21EE 2OI& VBN MR HIXAD ~ NP ASD
2N NER BN
M 9 JHRE OISLE2 TAEE =4
ool WS MEBHALM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M sZe 4 4,536,602 4,344,670 191,932
oD RS otELR SAEE =4 614,138 473,007 141,131
WG MEEAXH 556,740 413,918 142,822
Hasgs =& 4,370 950 3,420
201 L2l 4,370 950 3,420
01 At 22l 4,370 950 3,420
OXNEATEE s2E3 5H00& * 2,000 = 95% 950
omHg&as =& 28 300,000& * 128 * 95% 3,420
Mol SHEI &X 52,503 51,652 851
201 24l 18,923 18,192 731
01 At 2t 2l 6,555 5,824 731
O=2gSIl ¢X 5,719
O=sg&EJ &X Znu
35,000% = 11OHE S = 1290 * 95% 4,389
OZAlStHict s 20
20,000 = 200H * 95% 380
OSHE M)l HHiEed 82
1002 * 10,00008 * 95% 950
O=SYEI SHEE AEEH ZEH &Y
220,000 = 404 = 95% 836
02 2324l 12,368 12,368 0
OZAlJtHe AEHY M A2
36,000 = 143l& « 128 6,048
O=28 &Il HAX stz RANE=
15,0008 * 80H 1,200
OZ Al JtH et S X2 ==t
4,000,000& = 16CH * 8% 5,120
206 = Hl 1,540 1,540 0
01 MHZ 4l 1,540 1,540 0
O=sYSIl &X 2= 77,0003 = 2004 1,540
301 LEd = 240 240 0
12|24 = 240 240 0
OZAIStHE X HIIQ= UABAZ(AEZA
) 10,0003 = 2CH » 123 240
402 RI2EX20| ™ 19,800 19,800 0
03 212t &AL S HI 19,800 19,800 0
OZAlJthet Ol EX A& ==2
450,000& = 11CH = 42l 19,800
405 Xt&tE SHI 12,000 11,880 120
01 AL = ZH SHI 12,000 11,880 120
OZAIStHI2t(0lSAl) X 4,000,0009 * 3CH 12,000




FN: NER SZA4D
M 9 JHRE OISLE2 TAEE =4
el MEE MEBHAXAY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2 HA R MY =& 28 493,906 355,355 138,551
201 £B-2d| 312,836 302,304 10,532
01 At 22l 27,251 21,361 5,890
OBADLME H4I AN
40,0003 = 2CH = 12& = 95% 912
OBZILX UHDT YA £
120,000& » 1H = 13| » 95% 114
oBAZTLN IHT2IY MER
170,000& » 128 * 95% 1,938
OBAZLX T2 0B 253 2=
3,500,000& = 95% 3,325
OUEHIIE & Reedz3I| EX
130,000& = 10=A + 300 = 95% 3,705
OUEHI= HESXNME M EHE EUY
220,000& = 508 = 95% 1,045
OUEHIIE dES
110& = 30,0000H * 95% 3,135
OUEHII=Z ALEHY ZH =2
700,000 = 128 = 95% 7,980
OFAXZE 2L
4,500& * 33 * 27CH * 95% 347
OMeI| =HHE AEIH
100& = 3,00008 = 95% 285
oMgJl RASE B EXH
1,000& = 20008 = 95% 190
ogxi(2Y) HIIE Melbl
150,000& » 30& * 95% 4,275
02 =24l 285,585 280,943 4,642
032 SUE AIEZ(HA2HR)
70,0003 = 2CH » 12& 1,680
OBATDAME YuYs 242
20,000& = 123 240
OFA~ZFH & & KX 283,665
OFALFU(OIZzE8&2d) S
100,000& * 20CH 2,000
OFAXY AMN=E 1,965
&I F A 35,000& = 27CH 945
-ZEZA 85,000 * 12CH 1,020
OFaXtg dAINAUS I A==
400,000& * 2CH 800
OBARZ BINLRES
120,000& = 23| = 104 240
OFAXE UHsXtAl 30,0002 * 20K 60
OFAXY SXHI(270H) 278,600
“EAIH(E.UE) 10,800,000& * 250K 270,000
“StEXH(LAE) 4,300,000& * 2CH 8,600




SN HRT AN
MM U WRE OIEUS TAIEHE T4
Mo MEHALY 2 ERA)
- _ _ RE]

M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
206 M = Hl 51,070 28,600 22,470
01 X2 H| 51,070 28,600 22,470

OL-HAAX IR 18,900

Oz A EHAl 280,000& = 3CH = 1504 12,600
OAOIEE A Al 140,000 = 30 = 1504 6,300

OFAZE(UHHl 2 118)

50,000& = 12 * 12& 7,200

OFASE Z2=EH AZE 15,000& * 609 900

O&IZB2RE RZUE 40,000& = 10 400

OSBZ2RXHEH BHAALAEERE

30,000& = 4004 1,200
OB Z2FRE oA E S HH| 22,470
O& CHer x| &2 12,000& » 60Y = 204 1,440
oetxorA3 3,000& * 60¥ * 100%& 18,000
oot 8,000& *~ 60YH = 14 480
Oo&EsEad 7,500 + 60 x 1K 450
OslelEsH 35,000& * 60Y = 104 2,100
405 XHA&HF S HI 130,000 24,451 105,549
01 XA 2 FF S| 130,000 24,451 105,549
OFAXE 7 130,000
OMEHIIES =HIZ(BE) LA
130,000,000 = 1CH 130,000
oD WRE MR ST Y 5,961 5,961 0
201 LBt 9| 4,161 4,161 0
01 AP 22| H| 4,161 4,161 0
OSHIE MY D HHisWUs 2AEY
40,000& * 2Y x 43 = 128 *~ 95% 3,648
O=HIE MY Il HIEHUH s288A 29 513
O848 70,000 * 290 * 95% 133
OsBE= 500 * 80004 * 95% 380
206 2 b 1,800 1,800 0
01 X2 bl 1,800 1,800 0
OUEA(HE) EAEE X2 1,800
(OFSg=; 200& * 2,000& 400
Oyl 4,.0008 * 20074 800
O&H 3,000 * 2004 600
ZotNOl BPHE MY 25,358 30,237 A 4,879
H=sE Z2SAIAE 22 500 500 0
401 Al HI L =2 Tl 500 500 0
01 Al&H| 500 500 0




2N NER BN
MM U WRE OIEUS TAIEHE T4
Ee: NARSIEOl SHASMH XY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OHEZEZZ2SANAE 2% B (MIAE ZEH
500,0008 * 1JH A 500
SEHANEREEZS 21 24,858 29,737 N4 ,879
201 gBt24y| 24,858 29,737 N4 ,879
01 AP 2t 2| H| 10,123 11,377 N 1,254
OSIAMSAELZS DKM 1M 6,498
O8N XNAM 90& * 16,00000 * 23] * 95% 2,736
O=E=1 XA 90& = 22,00000 * 23] * 95% 3,762
OOy B4 R
70,000& = 1100 = 23] * 95% 1,463
OBYNWLRLZ 018448 L= 2,162
OteExxYd =8 100 * 2,000 * 95% 190
OXNSOH =2 50 % 3004 * 95% 15
OJAAHALN 622
80 * 22,0001 * 95% 1,672
OREEISESAE 0|82
30 % 10,0001 * 95% 285
02 2224 14,735 18,360 N 3,625
OEFAIMNEEEZ DM &8 RER=2 14,735
Ogbt 350 « 12,0000 = 23l 8,400
OS2I 2,4502 * 15000 = 23| 735
O=ss% 350 * 8,0000H = 23| 5,600
SHAAEO 2 22| 10,944 11,444 A 500
4 ZStAlE s 2el 3,444 3,444 0
201 LBt 3,294 3,294 0
01 AP 22| H| 2,394 2,394 0
OXSEX HACHH MAEX] A
80,000& = 124 X} * 95% 912
OMRIGtEHEIAlE HEAHAR2HA(LEHCIAIA
=2 2 2AZ2Y AEH 5)
1002 * 1,00000 ~ 4= * 95% 380
OJIEZLHEANE NEEHEES I=HI 1,102
(@)=1gs: -~ 190,0008 * 4% * 95% 722
ogdst 100,0008 » 4% * 95% 380
02 2224 H| 900 900 0
024+ U JE2L OA8 FUE AER
75,000 ~ 104 = 12&€ 900
206 M = Hl 150 150 0
01 XHZ Hl 150 150 0
OMelotE=MHelAlE B Ml 2
1,000& = 15004 150
=25 - ZelgEa HE 2L 7,500 8,000 A 500




2N NER BN
M 9 JHRE OISLE2 TAEE =4
ol BAYAIMO e Bl CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 7,500 8,000 A 500
01 M= 4l 7,500 8,000 A 500
ogesITN A2 500,000& * 15042 7,500
SZE=2E HEMEE 22 21,096 17,408 3,688
SEEEE A 2el 23 21,096 17,408 3,688
201 Zet24l 17,089 14,848 2,241
01 At 2t 2l 10,849 8,608 2,241
OUIIRE2E AN U2
600,000& = 8 * 18] * 95% 4,560
OMOIHIMSE SHUY 242
86,300 * 3 A » QIHKIE = 95% 2,214
OEL2E A =25
759,200& = 23| * 95% 1,443
OBALASHBY UM 242
50,000& * 1& = 13| = 95% 48
OZ2H A DA EHMHMel & HIISXeldl
500,000& = 23| = 95% 950
OZNEHSE 222 2,0008 * 5008 * 95% 950
OSHILHEZE HIEAE E5E 1I=H]
90,000 = 4H » 2F * 95% 684
02 23=2gHl 6,240 6,240 0
OsZ=FFY | 22/l
200,000& * 4& = 13 800
OtZUAAXMe JFUHE MEZ
70,000 = 1CH = 12& 840
OsZ2UAAXe EHEH pc ABEZ
25,000& = 10H = 12& 300
oOH=ExE |A2eltl 4,300,000& = 1CH 4,300
206 M= Hl 2,890 1,460 1,430
01 M= 4l 2,890 1,460 1,430
O&Z=ZFHl JIXMN 400
O=ZAMNE RIZUME(ZMR2Y 1L)
5,000& = 104 50
OAFHANE ZHS N 35,000& = 1004 350
oz ZHEH 2,490
OoYE & 330,000&  3=A 990
ORsSXHM s 100,000& * 3% A 300
oga=s, &#AMAT S 200,000& * 44 800
OJsdst 40,000& = 404 160
Ootd 3 60,0002 * 44 240
301 LA F 1,117 1,100 17
12IJIEBE43 1,117 1,100 17
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2N
X ZH -
L= B

el

{0
4
o
0
1
0z
[

SI(3IH) - HEAMY - BAS O 4t 0t SSa H RS2
- B Xt 40,0008 » 60Y = 128 28,800
SHMAE Y E=HISE
20,0008 = 80Y¥ = 12& 19,200
- =EMXH 60,000& » 314 = 12& 22,320
O (DNIE 100,000& * 15Y = 12& 18,000
-AHESH EXx S 8,500
i & A4 500,000& = 17¥ * 13 8,500
==} 453,452
gaaeag
136,915& » 60 * 3 * 12& 295,737
FIEE e
9,127& * 609 * 24 » 12& 157,715
O=cl=MH] 277,697
o AlH| 140,000& = 60Y * 12& 100,800
S Jthl
2,456,890 * 60% * 60YH * 23| 176,897
OFM=X 96,000
-S| A Y| 80,000 » 60Y = 128 57,600
-FE=Y 50,000& » 60YH = 12& 36,000
A=y 200,000 = 1 = 12& 2,400
O9xRas= 146,041& = 6098 = 20 175,250
OSY =& 8,000& * 60Y * 20 9,600
OZd32F& Ul=Hl 51,000
OoO&gs 90,000& * 60Y * 68 32,400
Oogst= 100,000& + 60 = 13 6,000
O&L xR 15,000& * 60Y * 23] 1,800
Oot& 3t 60,0002 * 60Y * 23] 7,200
O& st 15,000& * 60Y * 23] 1,800
O=29 15,000& * 60Y * 13| 900
OO0t 2 15,000& * 60Y * 13 900
OsZE22 ogdE Sl 1,800
OsZ HgE Sl 30,000& *» 60Y * 15 1,800
OsE3EasRE RaXZ U
150,000& * 20 * 13 3,000
91,853 97,369 N5,516
91,853 97,369 N5,516
| 42,437 43,959 N 1,522
]l 28,187 29,709 N 1,522
A 500,000 * 24 x 90% 10,800
gl (2 &)
8,000 * 245 » 8 x 12&8 * 90% 16,589
AXZ 35,0003 * 20H = 128 * 95% 798
02 33249l 14,250 14,250 0




SN NRT SN
HE: HW2ARY (MR SAAND)
@2 Jl2&tl c
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDS
oRERE 13,850
Ogbt 350& * 15,0000H 5,250
O8I 2,150& = 4,0000H 8,600
ONXI= A A 22l 5,000,000& * 8% 400
202 O B 41,376 45,370 N 3,994
01 2L Y] 14,976 18,970 N 3,994
©J| =& bl
20,0003 * 139 * 6 * 12& ~ 80% 14,976
02 EAHNYI 26,400 26,400
OJ|IEZ&HI 200,000& * 11 * 12& 26,400
203 &R =AY 8,040 8,040
VR E T EES 8,040 8,040
OJ|=H 8,040
030210l 3t 400,000& = 12& 4,800
ol == 1t 5,000& * 54H = 12& 3,240




N = 0 &8 AFH Y & A AN
20218 & 20l & LBGH M3 P HEXJ ~ A7 A=
A MaF A&
M YN JEEy x4
el Jt2 2SS |xze CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
N7 A48 10,060,652 8,848,736 11,916
2 150,000
hag 1,388,000
T 45,000
Al 8,477,652
Es It X4 1,774,768 2,166, 156 A 391,388
g Bots szl 1,774,768 2,166, 156 A 391,388
tggots dE 2 nx 375,182 652,586 N2T77,404
401 AIEHIL 20| 375,182 652,586 N2T77,404
01 Al Bl 372,500 648,500 N 276,000
o8BS A7 &X 1,500,000& * 100JH & 150,000
OLZE JIZE LED WA
1,000,000& * 100JH 2~ 100,000
oOL% JH2E HEI|E DA
7,500,000& * 11JH 2 82,500
ords 44X 1,000,000& * 4004 &~ 40,000
03 Al& 20l 2,682 4,086 N 1,404
QIZEoS ald L Wl AA=R2UbI
372,500,000& * 0.72% 2,682
t28ots 22| 1,356,390 1,297,570 58,820
201 et A | 971,230 914,410 56,820
01 AFR2t2ldl 15,070 15,070 0
OJt28 dI|&H BEdx=x2 14,595
o=dg 51,040& = 20000 A * 95% 9,698
Ozs= 8,590& * 600S = * 95% 4,897
OJtg2os B MG IS 475
o&gs=s 90,000& * 2% *x 95% 171
odgst=s 100,000 * 2% = 95% 190
Ootd 3t 60,000& * 2% * 95% 114
02 533294l 956, 160 899, 340 56,820
OJgeEos dMIIe= 948,600
OJlzs 230,000 * 210004 = 12& 579,600
OBots 7,500& * 4,100 * 12& 369,000
O2S Yoy HE)| SM23
3,000& * 2100 * 12& 7,560
206 M = Hl 83,000 81,000 2,000
01 M= bl 83,000 81,000 2,000
oJlz=ees B8 UM 83,000
HBoOSEE 80,000& * 2004 16,000
Otz sddasrdE ) 1,800,000& = 104 18,000
ODNALESHI {150W 18,000& = 20074 3,600
ODNALHEESHEI 250W 20,000& * 20004 4,000




SH AT ALY
M HPHES J2EE XM
ol Jl2 . Bos |xRE (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ONALIEEHA I 150W 17,000& = 20074 3,400
OLNLLIESCHAED| 2500  20,000& * 2004 4,000
OLED SJ1+ 70W 700,000& = 2004 14,000
OLED SJ1+ 120w 1,000,000& * 2004 20,000
401 Al HIL 201 302, 160 302, 160 0
1 A& I 300,000 300,000 0
OJz2EoSsE RAES 200,000& * 1,500 300,000
03 A& 2 0HH] 2,160 2,160 0
OJI2Eos RAES =& AIE&=2UHH|
300,000,000& * 0.72% 2,160
XNSGHUHX EEAL 43,196 216,000 N 172,804
201 et A | 43,196 0 43,196
02 3524l 43,196 0 43,196
O2RAMNZLEDIIZS WHAY EHEXR &st2
3,599,590& * 12& 43,196
o ZELNE s TADEEA 6,598,205 5,334,601 1,263,604
s 1,388,000
5,210,205
CZ12m0I 2t SAIHEEZ A 536,779 466,215 70,564
S EZI|8HAl s I3 28,219 26,215 2,004
201 LEr2 9| 28,219 26,215 2,004
01 At 22l Yl 24,253 22,543 1,710
Ot =2H| 4,028
OZAHECR MEE ARE 4,028
-SASX 21,0003 * 54X * 128 * 95% 1,197
-E4 220,000& * 1000 * 95% 2,090
-IEI AL2E 741
-3 70,000 = 1CH * 43 * 95% 266
- Ed 100,000& * 5J4 = 95% 475
oNgde, T=283E F&EXIA £ ANCESBE
PNE= I 950,000& * 128 * 95% 10,830
OEXNYEEHE 285 & S22 2,195
O3 260,000& = 72 Xl * 95% 1,729
OsJ==2 70,000& » 72Xl * 95% 466
(©F2PNE=3 7,200
OAtEt s 28029 X 2 12Xl
600,000& ~ 123 7,200
02 332494l 3,966 3,672 294
O Xt = Il 1,377& = 12L x 240 3,966
| S2HEX 24 208,560 210,000 A 1,440
1 A& 8 20| 208,560 210,000 A 1,440




SM: T ALD
gt

& XY ZE€@EAES /s TAIDIEEXH
CEpn0lete TANEER HA o E)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 Al&H| 208,560 210,000 A 1,440
OJ 2 HYSIEH 208,560
OEXIHLHI 200,000, 000& 200,000
AEXE2 8,560
-SII0|& =2 70,000& = 10€ Xl 700
-2gsgLas 372,000 * 52 X 1,860
AEEILLE
200,000€ = 204202t = 152 X| 6,000
=2E TAHEEZ2(A3-825) &H& 300,000 0 300,000
401 Al HI YL 2 0HHI 300,000 0 300,000
01 A& HI 300,000 0 300,000
© Z AtH| (L=200m, B=6.0m) 300,000, 000& 300,000
| 4,326,426 4,038,386 288,040
TZ23EH € K2 2,132,137 2,078,340 53,797
101 21 214| 3,884 3,834 50
04 JIZtHI22XNSE S 3,884 3,834 50
(OIME=—3=F VN 3,884
Oorge 74,9008 * 29 « 30 0H ~ 8IHA 3,596
O 2+t Al H|
3,000 * 29 « 3WH » 23 » 8 A 288
201 et A b 87,080 86,193 887
01 At 22l ] 43,569 42,976 593
O=2HHl EAHE 422 4,148
OEZ=ZH T2y 2XI(A0)
66,000 » 12 = 128 * 95% 753
OE2Z2H 23 51,0008 * 30 ~ 128 » 95% 1,745
OZglHe EY 220,000 = 5JH = 95% 1,045
OZ gl 23 53,0008 = 100 = 128 * 95% 605
O&H|l dx& 18,763
O=4D] 600,000& = 104 = 20 * 95% 11,400
OEIZE" 500,000& * 1CH » 10Y¥ = 95% 4,750
oAz 550,000& = 1CH = 52 x 95% 2,613
O3 FEXAI & NEHAE LI
950,000& * 128 * 95% 10,830
OXAS 45128 X LU= 36,000& * 12& 432
OZ2S/ M At2te| 9,396
OE=Es4+43 372,0008 = 102 X * 95% 3,534
OdA=ESZEEE2  567,0008 = 102X * 95% 5,387
O=sSMHarztel ZDEXE M
50,000& = 10JH * 95% 475
02 33249l 43,511 43,217 294




SHT MRT AAD
HE: N BHLHES A CAIIUEY
ool S22 (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJlstt ARY U FRE(ER)
916& = 304 = 60 1,649
OS2 FHIZHl ==cltl 250,000& *» 63 1,500
OS2 EHI&Hl RF4l 1,377& = 2004 276
OZz&el cCTvald AMEZ
1,750,000& * 1228 21,000
OsW=0l HEAE MRS
100,000& = 40 « 128 4,800
OY+AMTHI SM23
50,0003 * 34 + 123 1,800
ORI MRS
100,000& = 6O + 12 7,200
OHEE NESAALEY S423
110,000& » 12& 1,320
Oz dF=e 2 =FXY |RFHI
1,3773 * 124 = 240 3,966
206 M= Hl 44,783 44,783 0
01 =8l 44,783 44,783 0
OxgE T=2E2+2 IHHM 44,090
OXngdA=XNS S 45 231,000& * 60 13,860
OZotAa =2 14,000& * 1,500% 21,000
OABIE 5,000& * 2501 1,250
OZcH 23,000& = 200m’ 4,600
OZT(HA) 16,000& * 200m 3,200
o330l s 33 18,0002 * 104 180
OL2=E+ ZYA M2 E XM 693
O At EXI & 60,0002 * 14 60
O3S A8 HA 25,000& * 1004 250
OSAME it E 13,2002 1004 132
OFSPAFIE=3" 15,000& * 5K 75
OofIgZd1s 17,600 * 100K 176
305 et =2 S 5,000 5,000 0
01 =& 5,000 5,000 0
OZZAIE MM Hiag 500,0008 * 103l 5,000
401 A EHI L 2O 1,991,390 1,938,530 52,860
01 A& HI 1,984,460 1,931,780 52,680
O ¥ T2ANEE SAESAY 1,925,000
O0AZE AIIE=+ 300,000,000 300,000
Ot &M 50,000, 000& 50,000
25 € FAHA RANE* 50,000,000& 50,000
OE2ZANE Z2essNE+ 950,000, 000& 950,000
OsZANE 288 NE=> 200,000, 000& 200,000
OL2UHEAEES FRNES 100,000, 000& 100,000




SM: HET AL
M NS dELEE /s ZADIEEH
ool S22 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONE0ESTA ANEE SN+
100,000, 000& 100,000
O T2H )| 150,000, 000& 150,000
O&E2Z tUHEXE FHIAY
2,500,000& * 1004 2 25,000
OZH=E E&===8 526,000 * 40 X 21,040
OANE ¥ sHEkz 0NS8R 24 38,420
O&EXI0H bl 30,000,000& 30,000
OLx&E=+=r2 8,420
-AE8El=5
200,000& = 24 JI& = 102X 4,000
-EE¥EErrE 372,000& = 102X 3,720
-SJ0lE =2 70,000& = 10 X 700
03 A& SR THHI 6,930 6,750 180
0x2 ¥ TZANEE FANES AIE2UHI
1,925,000,000& * 0.36% 6,930
g @ AlIEE8 A2 344,209 955,968 A611,759
201 LB-2EH| 23,569 25,440 21,871
01 At 2t 2/l 2,041 2,040 1
OTEHE HI|etd e H==+2
179,000& = 128 » 95% 2,041
02 3322l 21,528 23,400 N1,872
osHes 6,180
O&3tEE=E1 45,000& = 123 540
O=2ZALAl St XI5 CCTV 200,000 = 12& 2,400
Odta &2 Xt 270,000& = 123 3,240
(OFSPIR=E=; 4,848
O&32E=s1 350,000& = 12& 4,200
O=2ZAtXl St& X+ CCTV 30,000 = 12& 360
OstatE 2 Xt 24,0008 * 123 288
Os&) etdze @ |FANES E2F =2
450,000& » 128 5,400
osdIl &8 ==82 150,000& * 2JH 4 300
08I HALEY =25 400,000& » 128 4,800
401 Al BIZ 201 8] 320,640 930,528 A 609,888
01 A& HI 318,480 924,946 A 606,466
oung & AlE2 A& 318,480
= Xl2teldl 300,000, 000& 300,000
O4A Al £ Al 300,000,000& * 6.16% 18,480
03 Al 2 0HHI 2,160 5,582 N 3,422
oung A A2 FX el AERU
300,000,000& * 0.72% 2,160
SN SZAX(GHEXR) B+2LBA 1,100,000 0 1,100,000




SH AT ALY
M NS dELEE /s ZADIEEH
el CRB2 (crel: @ el)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 1,100,000 0 1,100,000
01 A& HI 1,100,000 0 1,100,000
© 3 AtHI (L=175m) 1,100,000, 000& 1,100,000
FU=RAY 750,080 1,004,078 A 253,998
401 A& HIZ 201 Y] 750,080 1,004,078 A 253,998
01 A& HI 746,048 998,489 A 252,441
oOdold 2EAAel 1019-3¢H X L& oA Z
&M D] (L=860m,B=6.5~7.0m) 150,000, 000& 150,000
OARE 27421 X L&A OtABIM LRI B AH(L=7
40m, B=6.0~12.0) 180,000, 000& 180,000
Odte SHXIMNEX 7 LEE7 ZHlSAH(L=5.2kn
) 260,000, 000& 260,000
Ottds ZEZ2X0ME ~ atd g3 BE&EH
gl 3 At(L=410m, B=2.5m) 50,000, 000& 50,000
OAMRE FUSRASE(EH) 80,000,000& 80,000
OF==JAAY AALA
640,000,000& * 4.07% 26,048
03 A2 2 0HHI 4,032 5,589 A 1,557
OFoU=AAAMNY ALFUH
640,000,000& * 0.63% 4,032
HE S+ =X 1,735,000 830,000 905,000
s 1,388,000
Al 347,000
HE e =X ALY 1,735,000 830,000 905,000
s 1,388,000
Al 347,000
401 AIEHI L 20 1,735,000 830,000 905,000
as 1,388,000
Al 347,000
01 A& HI 1,727,040 824,771 902,269
OMNLHNE RS =X AL (MEHAAY) 631,000
olsel s Z &S A(L=125m)
200,000,000 200,000
s 160,000
Al 40,000
Okatg JEUXNE EXSAMMHL)
276,000,000 276,000
s 220,800
Al 55,200
O« s22] AFHE S Z AH(L=100m)
80,000,000& 80,000
s 64,000
Al 16,000
O= =32l AFHE S E AH(L=150m)
75,000,000 75,000
s 60,000




SM: HET AL
PRSI o DEYAS RS TAIDIEEXEN
Sl PR SR FOIX SREED
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
Al 15,000
OMNLMERE FOXAAIL (BE23ALY) 1,096,040
Ol &d el =4 ALY (L=700m)
1,096,040,000& 1,096,040
hag 876,832
Al 219,208
03 A& E2HH| 7,960 5,229 2,731
OML M RA FOX A (METAAA) Al
A2 HHI(0.63%) 4,000,000& 4,000
g 3,200
Al 800
OMLMERA FOXAAIL (BE2ASY) Al
A2 HHI(0.36%) 3,960,000& 3,960
= 3,168
Al 792
TH Mol Hzs 78 1,042,087 711,396 330,691
= 150,000
& 45,000
Al 847,087
MoH ol & 378,692 75,810 302,882
= 150,000
& 45,000
Al 183,692
L2l THOH 2el 78,692 75,810 2,882
101 2124 H| 26,946 26,504 442
04 JI2ZtHIZ22NEE S 26,946 26,504 442
(@©FelFals]l 24,304
O0|HEZ Mo
75,9503 * 20HA * 49 x 40L 24,304
o4UEE B2¢2 2,642
O=0HZ 24,304,000& * 4.5% 1,094
OAHAdEE 24,304,000 * 3.335% 811
OAIRAEE 811,000& * 10.25% 84
[@E=3h= 24,304,000& * 1.65% 402
ONMTHEE 24,304,000 * 1.03% 251
201 2et2 Y| 51,746 49,306 2,440
01 AP 2t 2] H| 399 399 0
oMt 282 &9 70,0008 * 63 * 95% 399
02 2224 H| 51,347 48,907 2,440
O Aol O 2 & H| 4= & HI 15,407
OuwetIl g2l 1,000,000& = 104 1,000
OMEE Defarm=I|l =2l (10th)
1,000,000& * 10CH 10,000
Os &4l 1,377 = 204 = 203 = 8O4 4,407




2N

NI e

M THH MHottel M=zZst &
Sl e THol ol g (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ+=H4ZEI KFAE=HI
1,000,000& * 69H 2 6,000
OTZ2HE Hgd SRS 100,000& = 128 1,200
OEZH&E MgEHd MJl2=2  800,000&8 * 68 4,800
OEZHE HEH MIjetd et
120,000& » 12&8 1,440
OM&ZH 2= (EdH Jdlold)
200,000& = 4504 9,000
OEdH KRFHI 100,000& * 33| = 4504 13,500
SHAXIZ Mol XA MHUE RINBEAAE + 300,000 0 300,000
= 150,000
< 45,000
Al 105,000
401 AIEHI L 201 300,000 0 300,000
= 150,000
< 45,000
Al 105,000
01 A& Hl 300,000 0 300,000
OodtA X7 MoHASE XS HHUS IS EA
AE 300,000,000 300,000
2 150,000
< 45,000
Al 105,000
St - i =AlE O 663,395 635,586 27,809
ot FH ¥ |X2te 477,053 300, 136 176,917
201 Let24d] 11,638 11,638 0
01 At 2teltl 11,638 11,638 0
Ootd =4 & =2 FHl FHAX= 10,450
O= 47| 600,000& = 100 * 10 * 95% 5,700
Ogz=ZEd 500,000& = 1CH = 10 = 95% 4,750
O3ga9 ¥ ¢
50,0003 = 59 = 5& » 95% 1,188
401 Al HI K 201 I 465,415 288,498 176,917
01 A& tl 462,225 286,518 175,707
e RHAS(IHAEES) MAAMS
15,000, 000& 15,000
OnE& S 3Ma EH IS AH(L=2. 17km)
70,000,000& 70,000
O2&& HUl=AH(L=110m, H=3.5m) 103,263
O3 Atd| 98,000,000& 98,000
O& A& AHI 98,000,000& * 5.37% 5,263
Oot& X &AL 273,962
O3 Ad| 260,000, 000& 260,000
O& A& A bl 260,000,000& * 5.37% 13,962




DR A
DTe - WoHel MEs pE
DO - B aAlE A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
03 AIE 2 0HHI 3,190 1,980 1,210
Ot EHl ¥ |SAZcIAY AIE S
443,000,000& * 0.72% 3,190
2otd ZHIAMY 186,342 335,450 A 149,108
401 Al& Bl & 28I 186,342 335,450 A 149,108
01 A& Hl 184,398 333,290 A 148,892
A0tA Al ALY 84,296
O3 Atd| 80,000,000& 80,000
O& A& Al 80,000,000& * 5.37% 4,296
OFLAGHE HHIZAH(L=170m, H=2.0m, &H 1
Al 100, 102
O3 AtH| 95,000,000 95,000
O& A& A 95,000,000& * 5.37% 5,102
03 Al S THHI 1,944 2,160 A216
OAGHE FZHIALY Al 2RI
270,000,000& * 0.72% 1,944
ot 2t 228,904 249,404 A 20,500
ot & Xlot= Es2el 228,904 249,404 A 20,500
==&t EHl & FX 22| 211,512 211,512 0
401 AIEHIZ 28I 211,512 211,512 0
01 A& Bl 210,000 210,000 0
obtsot=%= &Edl & sX 22l 210,000,000 210,000
03 Al S THHI 1,512 1,512 0
Obi=&Hl Fdl & |X2cl AIZRUt
210,000,000& * 0.72% 1,512
Kot AIEE 22l 17,392 37,892 A 20,500
201 LBH2E| 1,392 1,392 0
02 =224l 1,392 1,392 0
OXots B I HIIRQRS 4,0008 » 128 48
OXiots EXZHEL SHRS
7,000 * 1602 * 128 1,344
401 Al HIZ 201 8] 16,000 36,500 220,500
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